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Part A

Section Id : 920906549
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906889
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090627735 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

1 fou v veriw &) ueaR fAAfafad udi & I e

STl sifden &1 e 8, g9 AR ¥ %,
g1 3T FHETHTE ¥ dH e 38 H 94 R

& I 39 HW-UH 1 ISR 18 K
&H U HUT B TUPHT IdR 1 gV el?

foren famn sr@ 3@ o1, g6 Uil & 3 €
& dl 7l g, fbeg T8 d agelal & U g

Sub questions

Question Number : 1 Question Id : 92090627736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IS GRGINR R E R C S

(1) oA (2) dgHd
(3) <xft (4) fag=h
Options :

920906109601. 1
920906109602. 2
920906109603. 3
920906109604. 4

Question Number : 2 Question Id : 92090627737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR Ui I Xreg o1 1 3 87

(1) =3 7Ol grem (2) SR TN ara
(3)  TUEH (4) o

Options :



920906109605. 1
920906109606. 2
920906109607 3
920906109608. 4

Question Number : 3 Question Id : 92090627738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bl 3T FHATHIE F i W H A |
TR B W SURIad dfdd § g1 T uged i R e 82

(1) gof farmm 2) A fRm
(3) UYarEa® 4 fawmre diys
Options :

920906109609. 1
920906109610. 2
920906109611. 3
920906109612. 4

Question Number : 4 Question Id : 92090627739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R U= H SedT Ues W WYed U E -

(1)  AfdaE® (2) ifddrEs
(3) HddEd® (4) woOdrEa®
Options :

920906109613. 1
920906109614. 2
920906109615. 3
920906109616. 4

Question Number : S Question Id : 92090627740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR R § vyga e wee &1 fadm @

(1)  "id=n (2) aifden
3)  fa=mdf (4) A=
Options :

920906109617. 1
920906109618. 2
920906109619. 3
920906109620. 4

Question Id : 92090627735 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

2 fau U weiw &1 ugar FrEfafad uyt & IR e

o1l sifden 1 fen 8, g9 PR &9 3@;
81! 31T FHETHTE H 9 T H 99 R

& I 39 HW-Ufly BT ISR 1 8T AN
BH TR PHUI I HUHT S{adR FI g gl?

farey fomT s 4@ &), s Ul & 3N §;
& d T9 g4, fob=g Y8 d Sguial & U g

Sub questions

Question Number : 1 Question Id : 92090627736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Ui § W U §

(1) d&H (2) dgHd
(3) o 4) fac=h
Options :

920906109601. 1
920906109602. 2
920906109603. 3



920906109604. 4

Question Number : 2 Question Id : 92090627737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Ui H GO e 1 1 3 77

(1) 3= 707 drel (2) X TOT aren
(3)  TUEH @) frfo
Options :

920906109605. 1
920906109606. 2
920906109607. 3
920906109608. 4

Question Number : 3 Question Id : 92090627738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B! 31T FATHIE F I W H T B!
Ui H UK IURied Ui ® g1 ® ugad fam g sH-a g2

(1) qui feRm 2) oA fawm
(3) UYdES 4 fawmre diys
Options :

920906109609. 1
920906109610. 2
920906109611. 3
920906109612. 4

Question Number : 4 Question Id : 92090627739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TR H Tl Xreg # Ugad U@ -
(1) cAfedars (2) wifcdres
(3)  HAdE® (4) TodarEa®

Options :



920906109613. 1
920906109614. 2
920906109615. 3
920906109616. 4

Question Number : 5 Question Id : 92090627740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

VRd Ui H vgad faer ves &1 [dam @

(1)  |fd=n (2) aifden
3) faemit @) faerw
Options :

920906109617. 1
920906109618. 2
920906109619. 3
920906109620. 4

Sub-Section Number : 2
Sub-Section Id : 920906890
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090627741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATpIeid: &1 [AdH S 91 87?

(1) R drErfas (2 g
(3) gt (4) ufEmt
Options :

920906109621. 1
920906109622. 2
920906109623. 3
920906109624. 4

Question Number : 6 Question Id : 92090627741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATehIieip &1 f[ddH H19 1 82

(1) TR drhIas (2) TmH
(3) i (4) ufErHt
Options :

920906109621. 1
920906109622. 2
920906109623. 3
920906109624. 4

Question Number : 7 Question Id : 92090627742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Zfaer 4 et & fou U s &9 9182

(1) Ufdefa® 2) ISAfdE
3) g (4) WRplas
Options :

920906109625. 1
920906109626. 2
920906109627. 3
920906109628. 4

Question Number : 7 Question Id : 92090627742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ZfAer 4 Yl & fou U Wsg &1F 91 82

(1) Ufdei® 2) IeHiaE
3) IS (4) Wipldd
Options :

920906109625. 1
920906109626. 2
920906109627. 3
920906109628. 4

Question Number : 8 Question Id : 92090627743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Y IR 61 994 S|

(1) TR TH O™ eifom| (2) U &Y TH I ey
(3) dIfGt U U 9™ TRA| (4) <91 &1 UH TRA Y S|
Options :

920906109629. 1
920906109630. 2
920906109631. 3
920906109632. 4

Question Number : 8 Question Id : 92090627743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y[z IR 61 994 S|

(1) TRHATH O™ S| (2) U &Y TH I ey
(3) ISt U U 90 TRA| (4) 919 &1 Udh TRA Y S|
Options :

920906109629. 1
920906109630. 2
920906109631. 3
920906109632. 4

Question Number : 9 Question Id : 92090627744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rrfad & & #1 o vss ad- o i & g &

(1)  Judd (2) Jodd
(3) gouldd (4) Iulddd
Options :

920906109633. 1
920906109634. 2
920906109635. 3
920906109636. 4



Question Number : 9 Question Id : 92090627744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rrfad & & #1 o vss ad- o i & g &

(1} Jwdd (2) Joodd
(3) Jwuldd (4) Joldd
Options :

920906109633. 1
920906109634. 2
920906109635. 3
920906109636. 4

Question Number : 10 Question Id : 92090627745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrefoiRaa & 9 -3iid T gerar &1 Hel ol a1 82

(1) 3fid fsarn 2 offE Fara
(3)  off| e @) He B
Options :

920906109637. 1
920906109638. 2
920906109639. 3
920906109640. 4

Question Number : 10 Question Id : 92090627745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafad ° 9 st gAT geTR &1 Tl i 1 82

(1) 3 fur 2 i@ AT
(3) offa e @) He BT
Options :

920906109637 1
920906109638. 2



920906109639. 3
920906109640. 4

Question Number : 11 Question Id : 92090627746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 H IURYd TURE g7 &1 He Feferad § 9 a1 82

(1) 40H (2) 24Y9H
(3) 23 91 (4) 329H
Options :

920906109641. 1
920906109642. 2
920906109643. 3
920906109644. 4

Question Number : 11 Question Id : 92090627746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHd H IUfyd VR g7 &1 He Feferrad § 9 @ 82

(1) 40Y9H (2) 24Y9H
(3) 23 91 (4) 329H
Options :

920906109641. 1
920906109642. 2
920906109643. 3
920906109644. 4

Question Number : 12 Question Id : 92090627747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ 2020 TP, HRA & Ffaur # foa-i yrsnsf &1 e yrsTsf &1 wF &g T 82

(1) CE (2) Sd
(3) U @) U™



Options :

920906109645. 1
920906109646. 2
920906109647. 3
920906109648. 4

Question Number : 12 Question Id : 92090627747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ 2020 TP, HRA & Ay 7 fa-t vl &1 Arefiy rstsfi &1 R foar T 82

(n = 2) 3E
(3) U @) U™
Options :

920906109645. 1
920906109646. 2
920906109647. 3
920906109648. 4

Question Number : 13 Question Id : 92090627748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SCERIVE G ERIE EdlEIY

G- T

(GTE] HIgd Wieh JRBR -qH) (Gita-ud=a Iuafe REpR & faoran
(A) 2017 () aHl®d
(8) 2018 (1) 3T URE
(©) 2019 (DREEICREE
(D) 2022 (v) S d=1
Hid fau 0 fawseul & ¥ 9l IR &1 984 B
(1) (A)-(1), (B)-(1), (O)-(1I), (D)-(IV)
(2) (A)-(11), (B)-(1V), (C)-(1), (D)-(11)
(3) (A)-(I), (B)-(In), (Q)-(1V), (D)-(1)
(4)  (A)-(IV), (B)-(1), (C)-(I1), (D)-(I1)

Options :



920906109649. 1
920906109650. 2
920906109651. 3
920906109652. 4

Question Number : 13 Question Id : 92090627748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | & a1y g 11 T e S

i1 G-I
(GTS] TIgd Biedh DR -au) (Ghta-Td=1 IUafe [TEHR & faoran
(A) 2017 () TeEd
(B) 2018 (1) 3= URE
(€ 2019 any fa-ig ==
(D) 2022 (Iv) SHfFEH §=9

i fau v fawedi § 9§ W€l It &1 94 Difere:

(1) (A=), (B)-(I), (O)-(1n), (D)-(IV)
(2)  (A)-(l), (B)-(IV), (©)-(1), (D)-(I)
(3) (A=), (B)-(In), (C)-(1V), (D)-(1)
@) (A)-(IV), (B)-(1), (C)-(11), (D)-(l11)

Options :

920906109649. 1
920906109650. 2
920906109651. 3
920906109652. 4

Question Number : 14 Question Id : 92090627749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R pyrfeumu e

HY | : AfiP TAIY GaBd, 2021 & AR HRd 7 Af¥$ dFY Yadie 2021 #
46d1 R U foban g

HUF | AP TdRIY, 2021 F AR, HING! TR A df%E 909 Yadhis § -
& 91 $UR & Uid a2 | 2021 H ygll IR W8 §918 o

JIWIad HYH & e H, A f2u e faswadi 1 9 9l I &1 994 Sife

(1) ®YFIHRNSHI TT &

2)  ®YAI R I SE A §

(3) HYAI T g, Albd HUF Il S B
(4) HY | TG g, Alch DY 11 T B

Options :

920906109653. 1
920906109654. 2
920906109655. 3
920906109656. 4

Question Number : 14 Question Id : 92090627749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG HyA R M E:
HY | : AfiP TAY GBI, 2021 B HJUR YR 7 Afi$ aFY Gadie 2021 #
46d1 R U fban g

HYF | AP TAFIY, 2021 F HTAR, HING! TR 3 A%F 908 YaHis 7 ©H
& aId FH9R & Uid o2 § 2021 H Ugell R W18 @15 g

JIWITd HYH & 3aid H, A f2u e fawadi 1 § 9l 3o &1 994 Sifeu
(1) SYFIIRNAF IAE

2) ®HYI R I SH 3R §

(3) YA T §, Afed U 1l 3EA &

(4) DY T g, Afhd HUT I T &

Options :
920906109653. 1



920906109654. 2
920906109655. 3
920906109656. 4

Question Number : 15 Question Id : 92090627750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg UYH PIO Higell 1 § oA (—50 °C W) aféoft ya a 1397 fft ssiqafmad ¢ &1
ifdHT wIftd faar

(1) gia gdl (2) orefomT g
(3) U (4) ST et
Options :

920906109657. 1
920906109658. 2
920906109659. 3
920906109660. 4

Question Number : 15 Question Id : 92090627750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a8 UYH PIO HAigdl B § oA (-50 °C W) gl ya d& 1397 Tl sHsEafad ¢ &1
SifcarE wifta faar

(1) saEd (2)  Srefomr R
(3) EE=l U™ 4) SASIadl
Options :

920906109657. 1
920906109658. 2
920906109659. 3
920906109660. 4

Question Number : 16 Question Id : 92090627751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 fordt 8Y T W usd 3R sifaw il &1 3y ¥ 92d 33 & dIE el &1 Ual gt
H 1 g7

A 216
B: 793
C. 682
D. 497
E. 385

1= feu o fawedi § 9 9El IR &1 994 Do :

(1) B.C.AE B 2y B.CEAD
3 CBEAD 4 CAEBD
Options :

920906109661. 1
920906109662 2
920906109663. 3
920906109664. 4

Question Number : 16 Question Id : 92090627751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 fordt 8Y T W usd 3R sifaw il &1 3y ¥ 92d 33 & dIE el &1 Ual gt
H 1 g7

A 216
B: 793
C. 682
D. 497
E. 385

1= feu o fawedi § 9 9El IR &1 994 Do :

(1) B.C.AE B 2y B.CEAD
3 CBEAD 4 CAEBD
Options :

920906109661. 1
920906109662 2
920906109663. 3
920906109664. 4

Question Number : 17 Question Id : 92090627752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THI A Higd 9 $el “Usd HaR 87 3(UA I8 & Sl d¢ &f dgd &l gvdll” T J
fpas! gvmnr

(m = (2) g3
@) & (4) &

Options :

920906109665. 1
920906109666. 2
920906109667. 3
920906109668. 4

Question Number : 17 Question Id : 92090627752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

T A A 9§ Fel ‘lUsd 9WaRr 79 3 61 & Ihdld 9¢ &I d8d &I g™l I A
foas®! gvmr?

(1) Hf (2) 3
@) s @ e

Options :

920906109665. 1
920906109666. 2
920906109667. 3
920906109668. 4

Question Number : 18 Question Id : 92090627753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v, ®ifd, Rest ok wardl eme, e, Sifern iR egfey ¥ 9 Us % Ul € s g &+ o
Ud $HH § 39 gU B | Rl 31 Sifern &1 B fiadn g1 7S &1 gl 2gfeg & @i & Adhe B
i &1 39 N &1 B 81 Fieral off 39 98 & Ui g o1 ©d Rt &1 f&an mn g1 12
3R A" & Neli & o9 Haa Siferan &1 Ui g | Wi H1 S W wa fada g2

(1) TaE (2) Tar
(3) erferm (4) <gfem
Options :

920906109669. 1
920906109670. 2
920906109671. 3
920906109672. 4

Question Number : 18 Question Id : 92090627753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



vifa, ®ifd, Rt ofR Tt e, e, Siferan ok egfay ¥ 9 Us % Ul € s aid & o
Us A O 39 gU & | Rl &1 siferan &1 wa fiaan €1 7 &1 diwn 2gfed & WY & Fde g
Hifd @1 39 WY &1 o a1 e o 39 Uid & U § foraet wa Rel &1 foar mn g1 713
3R T[eld & del & e Faa Siiemn 1 e g 1 Wi &) S 91 Ea fadr g2

(1)  Tard 2) e
3) e (4) <gfem
Options :

920906109669. 1
920906109670. 2
920906109671. 3
920906109672. 4

Question Number : 19 Question Id : 92090627754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@l 11, 18, 13, 20, 15, ......... § 7T H&=HT &1 gHIT?

(m 21 2y 22
(3 23 4) 24
Options :

920906109673. 1
920906109674. 2
920906109675. 3
920906109676. 4

Question Number : 19 Question Id : 92090627754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§Eal 11, 18, 13, 20, 15, ........ | STell &1 &1 grfl?

(1) 21 2} 22
(3) 23 4y 24
Options :

920906109673 1
920906109674. 2



920906109675. 3
920906109676. 4

Question Number : 20 Question Id : 92090627755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A ByTRTME:

U fa9 &1 # 'BRIGHT' &1 ‘ATHIGY feran Sran @ ol 3t sie |

@Y | : ‘NORTH' DI "MPSVG' ferar S dut

HYT Il : "WATER’ &I 'VCSGS' feram Jmm|

IWRIed HYF P 3Hale H, A AT Y faseul # 9 ¥el IR &1 994 Sl

(1) HYFISNRNGHI 9§

(2) YT SR IS AT §

(3) Y1 HA B, Al FYA 11 ST B
(4) HUFIMTT g, Albd HUT 11 T §

Options :

920906109677. 1
920906109678. 2
920906109679. 3
920906109680. 4

Question Number : 20 Question Id : 92090627755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R A ByTRTME:

U fa9 &1 # 'BRIGHT' &1 ‘ATHIGY feran Sran @ ol 3t sie |

@Y | : ‘NORTH' DI "MPSVG' ferar S dut

HYT Il : "WATER’ &I 'VCSGS' feram Jmm|

IWRIed HYF P 3Hale H, A AT Y faseul # 9 ¥el IR &1 994 Sl

(1) YIRS TFE

(2) YT SR IS AT §

(3) Y1 HA B, Al FYA 11 ST B
(4) HUFIMTT g, Albd HUT 11 T §

Options :

920906109677. 1
920906109678. 2
920906109679. 3
920906109680. 4

Question Number : 21 Question Id : 92090627756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIg 5% @] dIftie YR &4Te IR $o o < &dl g1 fdha= aul & e oF fFaw & W)
o= AT 81 S|

(1) 2594 2) 20aY
3) 189y @ 15a4
Options :

920906109681. 1
920906109682. 2
920906109683. 3
920906109684 4

Question Number : 21 Question Id : 92090627756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIg 5% @1 it YR o416 R $ o o< &dl g1 fdhd- aul & e 1H Fag &3 )
o= AT 81 S|

(1) 2594 2) 20a4
3) 18°y @) 15a4
Options :

920906109681. 1
920906109682. 2
920906109683. 3
920906109684. 4

Question Number : 22 Question Id : 92090627757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 3R WA f9g 8 5 km/h TUT 3 km/h BT &R 9 B fag $1 3R 71fd 3 €1 afe I, A8
1921 Jd B ®JF R Ugd oIl & dl A 3R B & &9 &1 g3l 1 gl

(1) s Tt (2) 6 Tl
(3) 6.5 @A 4) 7.5 fbdt
Options :

920906109685. 1
920906109686. 2
920906109687. 3
920906109688. 4

Question Number : 22 Question Id : 92090627757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T SR H A fag @ 5 kmy/h TUT 3 kmy/h &1 &R & B fawg 31 3R 71fd &3 &1 afg I, 798
1 ¥e1 Jd B ®IF WX Ugd STl & dl A 31K B & &l @ gl &l gIiil?

(1) 5Tt 2) 6T
(3) 6.5 A 4) 7.5 Tt
Options :

920906109685. 1
920906109686. 2



920906109687. 3
920906109688. 4

Question Number : 23 Question Id : 92090627758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe ¥ 70% "HE! § 99 diddl g aul §iF1 75% Wl § 89 |iddi & of fbad ufa2d Al
H U 8l 9 W Il U gE &l [y i

(1) 15% (2) 40%
(3) 7.5% 4y 20%
Options :

920906109689. 1
920906109690. 2
920906109691. 3
920906109692. 4

Question Number : 23 Question Id : 92090627758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ¥ 70% "HE! § 99 diadl g aul |91 75% Wl § 99 Siddi o df fbad ufd=d Al
# U Bl 9 W gl U gER &l e S

(1) 15% (2) 40%
(3) 7.5% 4y 20%
Options :

920906109689. 1
920906109690. 2
920906109691. 3
920906109692. 4

Question Number : 24 Question Id : 92090627759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ufda=130b=133,c=137,da*+ b’ + -3 abcHIAA G

(m 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906109693. 1
920906109694. 2
920906109695. 3
920906109696. 4

Question Number : 24 Question Id : 92090627759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a=130,b=133, c=13/,dla" + + ¢ — 3 abc
gfe 30, b = 133 37.A a2 +b*+F—3abcHAAG

(m 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906109693. 1
920906109694. 2
920906109695. 3
920906109696. 4

Question Number : 25 Question Id : 92090627760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frfif@d # & gemeR $ I $1H 11 981 d8dR &7

A, 20% 3R 30% it §21dUT 10% JaT HR |

B. 30% 3R 10% hi® §81dYl 10% Jd1 HI

C. UEH 10% Ydl B &3 P UYTd 20% TUT 30% shiHD ST YT |
D. Ugd 10% Hdl &R U: 30% YT 20% HiHS d&1 YTdH |

4 feu T fasedi @ 9 e IR &1 99 HifolT ;

(1) &ddD

(2) $ddA, B

(3) &ddB C D

(4) $HddACD
Options :

920906109697. 1
920906109698. 2
920906109699. 3
920906109700. 4

Question Number : 25 Question Id : 92090627760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frfif@d # & gemeR $ I $1H 11 981 d8dR &7

A, 20% 3R 30% it §21dUT 10% JaT HR |

B. 30% 3R 10% hi® §81dYl 10% Jd1 HI

C. UEH 10% Ydl B &3 P UYTd 20% TUT 30% shiHD ST YT |
D. Ugd 10% Hdl &R U: 30% YT 20% HiHS d&1 YTdH |

4 feu T fasedi @ 9 e IR &1 99 HifolT ;

(1) &gaD

(2) hddA, B

(3) &ddB,CD

(4) HAAAC D
Options :

920906109697. 1
920906109698. 2
920906109699. 3
920906109700. 4

Part B: Agro Forestry
Section Id : 920906550
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906891
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 92090627761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Salix alba is mainly planted for supply of wood for
1. Furniture industries
2. Cricket bat industries
3. Construction industries
4, Aromatic oil industries

Options :

920906109701. 1
920906109702. 2
920906109703. 3
920906109704. 4

Question Number : 26 Question Id : 92090627761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR /ey A &4 ¥ [ [ adhdl & Wid & &9 H I 9l g7
. AT JERT

. T g I

. Twior =R

a3 gEm

Options :

920906109701. 1
920906109702. 2
920906109703. 3
920906109704. 4

B T

Question Number : 27 Question Id : 92090627762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Boron deficiency causes -
1. Yellowing of leaves
2. Heart Rot of cucurbits
3. Small leaf formation
4. Leaf thickening

Options :
920906109705. 1
920906109706. 2



920906109707. 3
920906109708. 4

Question Number : 27 Question Id : 92090627762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FII7 @t HH U &1 gidl 82
1. gfdi | dido
2. FPAae 1 gre e
3. BIC g™l &1 -1
4. gl g HermH

Options :

920906109705. 1
920906109706. 2
920906109707. 3
920906109708. 4

Question Number : 28 Question Id : 92090627763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Champion and Seth classified Indian forest into how many sub types.
1. 5
2. 16
3. 22
4, 24

Options :

920906109709. 1
920906109710. 2
920906109711. 3
920906109712. 4

Question Number : 28 Question Id : 92090627763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=TT 3R 3 9 HRd & 941 &I feba UHR H Ao f&an ur
1. §
2. 16
5. 98
4. 24

Options :

9209061097009. 1
920906109710. 2
920906109711. 3
920906109712. 4

Question Number : 29 Question Id : 92090627764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Genetic purity can be maintained by
Tissue culture

Grafting

Cutting Plantation

Seed Production

e QAN P A

Options :

920906109713. 1
920906109714. 2
920906109715. 3
920906109716. 4

Question Number : 29 Question Id : 92090627764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHARIS Ygdl [hTd gRI HaH @ ol Gl o
1. SHad datH
2. TG 9Ty
3. &aH Ul
4. dd Ided

Options :

920906109713. 1
920906109714. 2
920906109715. 3



920906109716. 4

Question Number : 30 Question Id : 92090627765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kamela Powder is obtained from

1. Butea monosperma
2. Mallotus philippinensis
3. Lawsonia inerims
4. Accacia nilotica

Options :

920906109717. 1

920906109718. 2

920906109719. 3
920906109720. 4

Question Number : 30 Question Id : 92090627765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S UIIST o urd g 22
1. sgfean Hlrgaf
2. Hdley fEfcmraieg
3. a3y
4. BRI Feaicar

Options :

920906109717. 1
920906109718. 2
920906109719. 3
920906109720. 4

Question Number : 31 Question Id : 92090627766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The main objectives of the measures of dispersion is/are -
To find the reliability of an average

To compare two or more set of data

To control variation of the data from central value
To control variability

ol Bl e

Options :

920906109721. 1
920906109722. 2
920906109723. 3
920906109724. 4

Question Number : 31 Question Id : 92090627766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URET & A &1 I Seg d1 8 / ¢ -
1. U 39d &1 aya-aar o4 & e
2. S e 3fidhsl & YTl Bl gan & foru
3. S 9 sfidsl @i faft=ar 1 FdfEd &3 & fou
4. fafirar &1 fdfa & & foo

Options :

920906109721. 1
920906109722. 2
920906109723. 3
920906109724. 4

Question Number : 32 Question Id : 92090627767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Plants growing in specific type of soil is called
1. Geographical Plant
2. Exotic Plant
3. Indicator Plant
4. Local Species

Options :

920906109725. 1
920906109726. 2
920906109727. 3
920906109728. 4



Question Number : 32 Question Id : 92090627767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[y YR &1 Jal # 377 dTd UTeyl & 71 SHal ldl o
1. YWiifer® arey
2. dgdl urey
3. Hchdd UGy
4. T Sfoai

Options :

920906109725. 1
920906109726. 2
920906109727. 3
920906109728. 4

Question Number : 33 Question Id : 92090627768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The species not suited for Industrial Plantation is / are -
Subabul

Poplar

Casuarina

Mahua

A o=

Options :

920906109729. 1
920906109730. 2
920906109731. 3
920906109732. 4

Question Number : 33 Question Id : 92090627768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3frefives urey Ay & foe B i sfa Iuge =71 82
LEIEG

L¥]

1.

2. UIUeliR
3. PRIl
4. Hgsl
Options :
920906109729. 1
920906109730. 2

920906109731. 3
920906109732. 4

Question Number : 34 Question Id : 92090627769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

LIST LIST Il
A. Project Tiger I. 1992
B. Project Lion 1.1973
C. Project Elephant .1972

D. Great Indian Bustard Project  1V.1993

Choose the correct answer from the options given below :
1. A-l, B-ll, C-lll, D-IV
2. A-lll, B-1I, C-I, D-IV
3. A-lll, B-1, C-ll, D-IV
4. A-lll, B-Iv, C-1, D-II

Options :

920906109733. 1
920906109734. 2
920906109735. 3
920906109736. 4

Question Number : 34 Question Id : 92090627769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | B g 1§ gAferd Sifere:

LIST | LIST Il

A, TINlEE TR l. 1992
B. Wide ¥R Il. 1973
C. Wlae gt . 1972
D. ¥ 380 %S Uiae IV. 1993

1. A-l, B-Il, C-llI, D-IV

2. A-Ill, B-II, C-I, D-IV

3. A-Ill, B-I, C-1l, D-IV

4. A-lll, B-IV, C-I, D-II

Options :

920906109733. 1
920906109734. 2
920906109735. 3
920906109736. 4

Question Number : 35 Question Id : 92090627770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Leading State in Cashew nut production in India is -
1. Maharashtra
2. Kerala
3. Karnataka
4. Madhya Pradesh

Options :

920906109737. 1
920906109738. 2
920906109739. 3
920906109740. 4

Question Number : 35 Question Id : 92090627770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR T &1 Iaie- T 3ofl I BIH 91 82

Options :

920906109737. 1
920906109738. 2
920906109739. 3
920906109740. 4

Question Number : 36 Question Id : 92090627771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is known as father of vital statistics?
1. John Graunt
2. Webster
3. Bowley
4. Kendall

Options :

920906109741. 1
920906109742. 2
920906109743. 3
920906109744. 4

Question Number : 36 Question Id : 92090627771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gIged Wiefedq (Sl Jifeeh) &1 9% & ol oidl 67
1. S %=
2. de¥cl
3. 913d
4. H3d

Options :

920906109741. 1
920906109742. 2
920906109743. 3




920906109744. 4

Question Number : 37 Question Id : 92090627772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fallow of usually 3 to 10 years and composed of shrub and young trees is
known as -

1. Grassland

2. Bush fallow

3. Forest fallow

4. Wood lot

Options :

920906109745. 1
920906109746. 2
920906109747. 3
920906109748. 4

Question Number : 37 Question Id : 92090627772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[HFG: 3 9 10 I9 &1 Ul Y forad gnfeai SiR a%ur 3& 8id &, 31 dgardl

87

RIS &
oS el oy
a1 Tl Yf#
STl Wig
Options :
920906109745. 1
920906109746. 2

920906109747. 3
920906109748. 4

oW oo

Question Number : 38 Question Id : 92090627773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Most commonly used water soluble preservative used by wood industries in
India is -

1. ASCU

2. Borax Boric Acid

3. DDT

4. CCZ

Options :

920906109749. 1
920906109750. 2
920906109751. 3
920906109752. 4

Question Number : 38 Question Id : 92090627773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR H dda! IeN H a4 4fie IUGrT g4 are o [qorg GRS S I ¢ -

1. %P
2. gAY dIi 3
3. 31814,

4. YIS,

Options :

920906109749. 1
920906109750. 2
920906109751. 3
920906109752. 4

Question Number : 39 Question Id : 92090627774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The basic purpose of the analysis of variance is to test the
Homogeneity of means

Heterogeneity of median

Range of mode

Variability

el e

Options :
920906109753. 1
920906109754. 2



920906109755. 3
920906109756. 4

Question Number : 39 Question Id : 92090627774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 STURYT I8 fahaadT udiequ &1 gidl &
1. HEUA/AE B Uh=gdl
2. fauwanmtere &t fafgear

3. 9gad B WH
4. Ta=vorditean (agem)

Options :

920906109753. 1
920906109754. 2
920906109755. 3
920906109756. 4

Question Number : 40 Question Id : 92090627775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 11

LIST | LIST I

A. Tape |. Basal area

B. Abney level Il.Bark thickness

C. Relascope lll.Circumference of tree

D. Bark Guage IV.Tree height

Choose the correct answer from the options given below :
1. A-l, B-1l, C-lll, D-IV
2. A-lll, B-ll, C-l, D-IV
3. A-ll, B-lll, C-l, D-IV
4, A-lll, B-1V, C-I, D-lI

Options :

920906109757. 1
920906109758. 2
920906109759. 3
920906109760. 4



Question Number : 40 Question Id : 92090627775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 IR 1S gHfEd i
Biill gl il
Bl . SR &Fhd

A,
B. W& Il oI &I Hlels
C. Raweg . gt aify
D. S B Iv. qu Pl Hurg

1. A-l, B-ll, C-lll, D-IV

2. A-lll, B-ll, C-l, D-IV

3. A-ll, B-1Il, C-l, D-IV

4. A-lll, B-IV, C-1I, D-I
Options :

920906109757. 1
920906109758. 2
920906109759. 3
920906109760. 4

Question Number : 41 Question Id : 92090627776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I

LIST | LIST Il
A. Foundation seed |. Blue
B. Registered seed |l. Yellow tag
C. Breeder seed lll. Purple tag
D. Certified seed  IV. White

Choose the correct answer from the options given below :
1. A-IV, B, C-lil, D-II
2. A-IV, B-lll, C-I, D-II
3. A-IV, B-llI, C-lI, D
4. A-|, B-lll, C-lI, D-IV

Options :
920906109761. 1
920906109762. 2



920906109763. 3
920906109764. 4

Question Number : 41 Question Id : 92090627776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 &1 R 1 gafed i
gl | =l

A, STYR S | e
B. Udigd dlw 1. UTar dda
C. UsH® did I, ST A
D. WHIUG dia Iv. &d
1. A-IV, B-l, C-lll, D-lI
2. A-IV, B-lll, C-1, D-II
3. A-IV, B-lll, C-lI, D-I
4. A-l, B-lll, C-ll, D-IV
Options :

920906109761. 1
920906109762. 2
920906109763. 3
920906109764. 4

Question Number : 42 Question Id : 92090627777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :
Statement - | : Aerial seeding is carried out in difficult terrain and
unaccessable areas.
Statement - Il : Aerial seeding save money and manpower using seed
pelleting technigues.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.

4. Statement | is incorrect but Statement Il is correct.

Options :



920906109765. 1
920906109766. 2
920906109767. 3
920906109768. 4

Question Number : 42 Question Id : 92090627777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fa G sy Ry &
®YF|:  gals dId AU, BEA YUTT 3R g7 &= § o ot g1
®YF Il : gals sia A90] I YA deb-iids 1 ITANT Hd §U ¢ 3R Sl
@ §9d gid! g
SR $YA1 b g # g fod 13 fasedi § U Het 3w g
1. B | 3R B 1| T e §
HYA | SR FY 1| T TTed &

2.
3. BYF | el g Rg B I T §
4. PYITTAd g W YT 11 T @

Options :

920906109765. 1
920906109766. 2
920906109767 3
920906109768. 4

Question Number : 43 Question Id : 92090627778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term "D & D" was given by
1. Brandis
2. Nair
3. 1. B. Raintree
4. Watson

Options :

920906109769. 1
920906109770. 2
920906109771. 3
920906109772. 4

Question Number : 43 Question Id : 92090627778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

81 3R St (D & D) Wsx feA feam ur
1. difgF
2. A”R
3. Sl
4. dicHd

Options :

920906109769. 1
920906109770. 2
920906109771. 3
920906109772. 4

Question Number : 44 Question Id : 92090627779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following can not defined rigidly?
Mean

Median

Mode

Arithmatic Mean

i St b M

Options :

920906109773. 1
920906109774. 2
920906109775. 3
920906109776. 4

Question Number : 44 Question Id : 92090627779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafaiaa & 9 59 T T u § uievifa a8t [ o1 gean
. W
. AT

EEEED

1
2
3
4. 7O Ay (HiGY Are)

Options :



920906109773. 1
920906109774. 2
920906109775. 3
920906109776. 4

Question Number : 45 Question Id : 92090627780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall occurrence of wind erosion could be described in how many
phases -
1

ok W P

2.
3.
4,

Options :

920906109777. 1
920906109778. 2
920906109779. 3
920906109780. 4

Question Number : 45 Question Id : 92090627780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uaH 3Red (fds ) & Fa firares fea-t sawarsit # aftfa far o
AHdl g7
1. 2

2 3
3. 4
4. 5

Options :

920906109777. 1
920906109778. 2
920906109779. 3
920906109780. 4

Question Number : 46 Question Id : 92090627781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The depth of medium gullies are
1. Less than 1 meter
2. 1to 5 meter
3. 5to 10 meter
4, more than 10 meter

Options :

920906109781. 1
920906109782. 2
920906109783. 3
920906109784. 4

Question Number : 46 Question Id : 92090627781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEH el 1 TTERTS bl gl @

1. 1HERX A BH
2. 19 5HRR
3. 5 10HR
4. 10 HieT | 3Hfd

Options :

920906109781. 1

920906109782. 2

920906109783. 3
920906109784. 4

Question Number : 47 Question Id : 92090627782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A : Slow growing tree species produces high density wood.
Reason R : Slow growth of tree causes compactness of cell as well thickening
of cell wall in wood.
In the light of the above statements, choose the correct answer from the
options given below :

1. Both A and R are true and R is the correct explanation of A.

2. Both A and R are true and R is NOT the correct explanation of A.

3. Ais true but R is false.

4. Ais false but R is true.

Options :

920906109785. 1
920906109786. 2
920906109787. 3
920906109788. 4

Question Number : 47 Question Id : 92090627782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fyares Sy A : it g $ ard g &t wifodi 3= g adrd STy I
ERGEA
PRUIR: & T it 9fg & SR H18 &) SRDH187 & Fuar il 8 3R
HIRre! =i # Herd s g
Iua HYHl & daH 7 11 32 T fasedl @ ¥ 9@ IW g
1. ASRRGH T € 3R R, A I Hel AT &
2. ASRR A Ud g Al R A DI Ye! 0= I8l &
3. AU E R B
4. AT ERARITE
Options :
920906109785. 1
920906109786. 2

920906109787. 3
920906109788. 4

Question Number : 48 Question Id : 92090627783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Dendrochronology concerned with
1. Age of Tree
2. Height of Tree
3. Biotic stress of Tree
4. Density of Tree

Options :

920906109789. 1
920906109790. 2
920906109791. 3
920906109792. 4

Question Number : 48 Question Id : 92090627783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

geiaerd BIawH (SSipare]) Py weatd §

1. J& Pt 3y

2. g P A

3. & W uifds darard
4. 94 P 9Td

Options :

920906109789. 1
920906109790. 2
920906109791. 3
920906109792. 4

Question Number : 49 Question Id : 92090627784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Institute of Forest Genetics and Tree Breeding located at
1. New Delhi
2. Coimbatore
3. Bengaluru
4. Mumbai

Options :

920906109793. 1
920906109794. 2
920906109795. 3



920906109796. 4

Question Number : 49 Question Id : 92090627784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g9 HFRIB] 3R g Uoi= I el f¥yd 87
. 8 feeedt

113

Options :

920906109793. 1
920906109794. 2
920906109795. 3
920906109796. 4

Question Number : 50 Question Id : 92090627785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of form factor and total height of tree is called -
Form quotient

Form height

Form factor

ol i e

Brandis factor

Options :

920906109797. 1
920906109798. 2
920906109799. 3
920906109800. 4

Question Number : 50 Question Id : 92090627785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BIH (FY) $RE B IdIE AR I8 B Fd Sdls 1 Hadld ¢ -
1. B (&Y) H
2. B (FY) Ha
3. B (FU) $RE
4. HifeH FRE

Options :

920906109797. 1
920906109798. 2
920906109799. 3
920906109800. 4

Question Number : 51 Question Id : 92090627786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Total area under agroforestry in India is
1. 12.1 million hectare
2. 28.4 million hectare
3. 32.8 million hectare
4, 42.2 million hectare

Options :

920906109801. 1
920906109802. 2
920906109803. 3
920906109804. 4

Question Number : 51 Question Id : 92090627786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd ¥ S aF@! & ol faba-m &9 87
1. 12.1 faferma g
2. 284 fafermd gRIR
3. 328 fafem g
4. 422 fAfaga gRm

Options :

920906109801. 1
920906109802. 2
920906109803. 3
920906109804 4



Question Number : 52 Question Id : 92090627787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Well known wood preservative "ASCU" was developed in
1. USA
2. Germany
3. India
4. Japan

Options :

920906109805. 1
920906109806. 2
920906109807. 3
920906109808. 4

Question Number : 52 Question Id : 92090627787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

farveTa 18 TRefl “aRG Fel fawid o mar o
1. JUIT
2. oA
3. YRd
4. WI9H

Options :

920906109805. 1
920906109806. 2
920906109807. 3
920906109808. 4

Question Number : 53 Question Id : 92090627788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Taungya is derived from
1. French word
2. Greek word
3. Burmees word
4. English word



Options :

920906109809. 1
920906109810. 2
920906109811. 3
920906109812. 4

Question Number : 53 Question Id : 92090627788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Weg fhad AT gl g
1. hd Isg
2. UlP Usq

3. qH Weg
4. 3{USl g

Options :

920906109809. 1
920906109810. 2
920906109811. 3
920906109812. 4

Question Number : 54 Question Id : 92090627789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mean annual increment is
1. Always positive
2. May be zero
3. May be negative
4. Always negative

Options :

920906109813. 1
920906109814. 2
920906109815. 3
920906109816. 4

Question Number : 54 Question Id : 92090627789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3frad ftfes Feiadt it erdt &
1. Hed YATHS
2. YT uEdl g
3. THRHAS & THdl ¢
4. gcd BUTHD

Options :

920906109813. 1
920906109814. 2
920906109815. 3
920906109816. 4

Question Number : 55 Question Id : 92090627790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A : Heartwood are less permeable than softwood.
Reason R : Heartwood are mainly composed of dead cells.
In the light of the above statements, choose the correct answer from the
1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true and R is NOT the correct explanation of A.
3. Ais true but R is false.
4. Ais false but Riis true.

Options :

920906109817. 1
920906109818. 2
920906109819. 3
920906109820. 4

Question Number : 55 Question Id : 92090627790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS FYF A : 3id: B1Y, T H1Y T FH YR gl g
PHRUIR: 3fd: HIY T&IT: §d SIS B &1 il 2
Iued HYHl & Had 7 1 33 A fased # ¥ w8 Iw g

1. ASRRIF I € R R, A Pl Ual AR 8

2. ASRRIH UU g, AfBR A D Ugl ARAT 8] &

3. AU WRgR U B

4. ASRTAE RRUT

Options :

920906109817. 1
920906109818. 2
920906109819. 3
920906109820. 4

Question Number : 56 Question Id : 92090627791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Microclimatic modification of forest is a type of :
1. Direct role
2. Indirect role
3. Neutral
4. Absolute zero
Options :
920906109821. 1
920906109822. 2
920906109823. 3
920906109824. 4

Question Number : 56 Question Id : 92090627791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a9 &1 Y& STear] IRac &1 U UHR 872
1. e YHPT

2. STl YfFHT
3. JarH

4. Y& A

Options :



920906109821. 1
920906109822. 2
920906109823. 3
920906109824. 4

Question Number : 57 Question Id : 92090627792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of forest has highest geographical area in India.
1. Tropical forest
2. Subtropical forest
3. Temperate forest
4. Alpine forest

Options :

920906109825. 1
920906109826. 2
920906109827. 3
920906109828. 4

Question Number : 57 Question Id : 92090627792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd H {59 R & g gaiids Hrifas &3 7 82
1. IWHfcdg a1
2. JUWHicdg a1
3. Siidmorad
4. TEREAT

Options :

920906109825. 1
920906109826. 2
920906109827. 3
920906109828. 4

Question Number : 58 Question Id : 92090627793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of correlation coefficient ranged between
0to 0.5

Oto1

0 to -1

-1 to +1

ol o

Options :

920906109829. 1
920906109830. 2
920906109831. 3
920906109832. 4

Question Number : 58 Question Id : 92090627793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TedaYy TUlid & TH BT W fdhd-1 gidl 82
1. 0905

2. 081

3. 091

4. -19 +1

Options :

920906109829. 1

920906109830. 2

920906109831. 3
920906109832. 4

Question Number : 59 Question Id : 92090627794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correlation between two variables can be measured by
Scatter diagram method
Rank method
Karl Pearson’'s method
ANOVA method
. By central tendency
Choose the correct answer from the options given below :
1. Aand B
2. A, BandC
3. B.Cand D
4. DandE

m B

Options :

920906109833. 1
920906109834. 2
920906109835. 3
920906109836. 4

Question Number : 59 Question Id : 92090627794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 93 & o Teddy P fbad g1 A o ¥bdl &
A. UHIof 3 fafy
B. Y& fafy
C. ®Td fuaRed [afy
D. 3ffar fafy
E. Pig udfd grI
e 3 A fosedl & 9 98 SWR g
1. ASIRB
2. A B3IRC
3. B,C3RD
4. D3IRE

Options :

920906109833. 1
920906109834. 2
920906109835. 3
920906109836. 4

Question Number : 60 Question Id : 92090627795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following is correct about non-parametric tests?
Sample observations are independent.

The variables under study is continuous.

Mean and variance of the distribution exist.

Parameters of the population known.

Probability density is not continuous.

monHwpe

Choose the correct answer from the options given below:
1. A, B and C correct
2. Band C correct
3. C, D and E correct
4. Only B correct

Options :

920906109837. 1
920906109838. 2
920906109839. 3
920906109840. 4

Question Number : 60 Question Id : 92090627795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fufeiad 3§ 4 SF 4 Sy TR-yrEe uiam S e 3d 82
. T qfde W 8§
AT & AFid G R Iad eld &
. TR & mrem SR yRRY e B @
. FAP F AFCUS T e
. "yIfaaT 99 9dd e gl
A9 22 TR el 3 a@ SR IR
1. A B3RC
2. B3IRC
3. C,D3RE
4. HddB

Options :

920906109837. 1
920906109838. 2
920906109839. 3
920906109840. 4

I=

m Qg N



Question Number : 61 Question Id : 92090627796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tree diameter in European countries measured at -
1. 1.30 meter
2. 1.37 meter
3. 1.42 meter
4. 1.39 meter

Options :

920906109841. 1
920906109842. 2
920906109843. 3
920906109844. 4

Question Number : 61 Question Id : 92090627796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIUTg 20T 7 g4 1 AT fbd U= H19T W1l § -
1. 1.30 HIX
2. 137 HIR
3. 142 WX
4, 139 HIR

Options :

920906109841. 1
920906109842. 2
920906109843. 3
920906109844. 4

Question Number : 62 Question Id : 92090627797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Brown rot fungi consumes which component of wood.
1. Cellulose
2. Cellulose and Lignin
3. Pectin
4. Lignin

Options :



920906109845. 1
920906109846. 2
920906109847. 3
920906109848. 4

Question Number : 62 Question Id : 92090627797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R e (&RVT) HdD, HIY & ¥ geH B IUHT A &
1. el
2. Aqa 3R fafam
3. OfdeA
4. fafe=

Options :

920906109845. 1
920906109846. 2
920906109847. 3
920906109848. 4

Question Number : 63 Question Id : 92090627798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On slopy land, Tree DBH is measured on
1. Low hill side
2. Up hill side
3. Along the axis of tree
4. Above breast hight

Options :

920906109849. 1
920906109850. 2
920906109851. 3
920906109852. 4

Question Number : 63 Question Id : 92090627798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sl arcl YW W g8 &1 S1al.ua. fg SR J |11 91 €2
1. =i Ugrs! arell dk%
2. $dl Uerd! ardl Te
3. 94 P & 1Y
4. BTl B HAR F IR

Options :

920906109849. 1
920906109850. 2
920906109851. 3
920906109852. 4

Question Number : 64 Question Id : 92090627799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The concept of sustainability was first came in the year.
1967
1973
1987
1988

o ha 8

Options :

920906109853.
920906109854.
920906109855.
920906109856.

AW N~

Question Number : 64 Question Id : 92090627799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRR 1 Heed-T UuH aR fhg ay & omdte
1. 1967
2. 1973
3. 1987
4. 1988

Options :

920906109853. 1
920906109854. 2
920906109855. 3



920906109856. 4

Question Number : 65 Question Id : 92090627800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The standards of weight and measures Act came into force in
1. 1956
2. 1966
3. 1976
4. 1986

Options :

920906109857. 1
920906109858. 2
920906109859. 3
920906109860. 4

Question Number : 65 Question Id : 92090627800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d1e 3R AU 7S HfFaH $9 ugnT § arm T
1956
1966
1976
1986

il

Options :

920906109857.
920906109858.
920906109859.
920906109860.

AW N =

Question Number : 66 Question Id : 92090627801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Smalian's formula is used for volume calculation of
1. Cylinder
2. Cone
3. Paraboloid
4. Neiloid

Options :

920906109861. 1
920906109862. 2
920906109863. 3
920906109864. 4

Question Number : 66 Question Id : 92090627801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WieA T [ud maaa & siiad & o vgad eiaT 87
1. ffeisR @@)
2. B (TP)
3. WEEEs
4. Aidiss

Options :

920906109861. 1
920906109862. 2
920906109863. 3
920906109864. 4

Question Number : 67 Question Id : 92090627802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pyramid of energy in food chain is
1. Upright
2. Inverted
3. Upright and Inverted both
4. Always flat

Options :

920906109865. 1
920906109866. 2
920906109867. 3
920906109868. 4



Question Number : 67 Question Id : 92090627802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT Sl | St Bl fURfrs a1 gia g2
1. dien
2. Il
3. Hiten iR Ieel el
4. Ted 9uel

Options :

920906109865. 1
920906109866. 2
920906109867. 3
920906109868. 4

Question Number : 68 Question Id : 92090627803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Common bread wheat is
1. Diploid
2. Triploid
3. Tetrapoloid
4. Hexapoloid

Options :

920906109869. 1
920906109870. 2
920906109871. 3
920906109872. 4

Question Number : 68 Question Id : 92090627803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT A arel g HH1 gldl 67
1. feufoe
2. [
3. I
4, YOG

Options :

920906109869. 1
920906109870. 2
920906109871. 3
920906109872. 4

Question Number : 69 Question Id : 92090627804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Growing more than one crop on the same piece of land with each crop
during different time of the year is -

1. Cropping calendar

2. Cropping pattern

3. Cropping sequential

4. Cropping system

Options :

920906109873. 1
920906109874. 2
920906109875. 3
920906109876. 4

Question Number : 69 Question Id : 92090627804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UE ¥ SHiS Bl ®I U ol YU & Ths R A o/ Tdd Bgd a4 &
fird- firg g & SR 3T Wi §, 39 o hed 87

HHA Haed

UG RCLYI]|

HYd Hild

HHd dd

B L B

Options :
920906109873. 1



920906109874. 2
920906109875. 3
920906109876. 4

Question Number : 70 Question Id : 92090627805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most common type of disease in forest nurseries is -
1. Root cutter
2. Damping off
3. Leaf defoliation
4. Leaf Yellowing

Options :

920906109877. 1
920906109878. 2
920906109879. 3
920906109880. 4

Question Number : 70 Question Id : 92090627805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SiTTard ARGl # gad aifties g UeR &1 A0 gidr 82
1. Hd HeX
2. 3% UaH
3. Uil BT HAS
4. Uil &1 didmgq

Options :

920906109877. 1
920906109878. 2
920906109879. 3
920906109880. 4

Question Number : 71 Question Id : 92090627806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Agar wood oil is obtained from
Cinnamomum zeylanica
Gaultheria Fragrantissima
Agquilaria agallocha
Cymbopogon nardus

ol b

Options :

920906109881. 1
920906109882. 2
920906109883. 3
920906109884 4

Question Number : 71 Question Id : 92090627806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR ST fad U g1l 8
1. Ry fGreRar
2. Tt BaRaRimr
3. UEHdrAndl S/eriar
4, RyEanE 7789

Options :

920906109881. 1
920906109882. 2
920906109883. 3
920906109884 4

Question Number : 72 Question Id : 92090627807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Minimata disease was caused by -
1. Cd pollution
2. Zn pollution
3. Hg pollution
4. Pb pollution

Options :

920906109885. 1
920906109886. 2
920906109887. 3
920906109888. 4



Question Number : 72 Question Id : 92090627807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT I {5 SR 4 ghan g2

1. Cd UgHU
2. Zn UgHU[
3. Hg UgHU
4. Pb UgHU
Options :
920906109885. 1
920906109886. 2

920906109887. 3
920906109888. 4

Question Number : 73 Question Id : 92090627808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

First forest policy of Independent India is
1. 1894 policy
2. 1952 policy
3. 1988 policy
4. 2014 policy

Options :

920906109889. 1
920906109890. 2
920906109891. 3
920906109892. 4

Question Number : 73 Question Id : 92090627808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wdd HIRd P UYH g Hifd & 9t 82

1. 1894 Hifd

2. 1952 Hifd

3. 1988 Hifd

4. 2014 HifQ
Options :

920906109889. 1
920906109890. 2
920906109891. 3
920906109892. 4

Question Number : 74 Question Id : 92090627809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A : Exotic species under agroforestry performing better than
indigenous species.
Reason R : Exotic species has high carbon sequestration potential but many
species has negative impact on envrionment.
In the light of the above statements, choose the most appropriate answer
from the options given below :
1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct and R is NOT the correct explanation of A.
3. Ais correct but R is not correct.
4. A is not correct but R is correct.

Options :

920906109893. 1
920906109894. 2
920906109895. 3
920906109896. 4

Question Number : 74 Question Id : 92090627809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e U A - HN FiiF@! & siqrid s sfodi, 2w sfadl $1 gan |
331 & G B
ST R : G SMfadl H 3= HIa- (el & gidl g1 U= 9¢ dgd 9
fadl vaiaRo R ASRIAS U STad ¢ |
Sugerd HYHl & da ¥ 1 33 7 fased # ¥ @ IWR 9T
1. A SRR U & R R, A B U AR &
2. AJRRIF IA € PR, A D! TS AR T ©
3. AT E WgR AT T
4. ATIEWRIRITE

Options :

920906109893. 1
920906109894. 2
920906109895. 3
920906109896. 4

Question Number : 75 Question Id : 92090627810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A : VAM is a type of symbiotic association between root of higher
plants and fungi.
Reason R : VAM causes lesser permeability and absorption of nutrients.
In the light of the above statements, choose the most appropriate answer
from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

2. Both A and R are correct but R is NOT the correct explanation of A.

3. A s correct but R is not correct.

4. A is not correct but R is correct.

Options :

920906109897. 1
920906109898. 2
920906109899. 3
920906109900. 4

Question Number : 75 Question Id : 92090627810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pearers HYF A - S uuH. @), 3= & uredl # §S) 3k Sas] & 4k s

UPHR &1 Heguild Had g |
PRUIR: dIUAU (3H) & HRU UND] & TR 3R Sl &H 8l Sl
gl

SIuged HyAl & daH # A1 fed 1A fasedi § O wgt S gRT
1. ARRSIH A E AR R, A Bl el AR &
2. A 3R 94 € PR, A P Te! TRA 61 €
3. AN W R I ©
4., AIIE MIRITE

Options :

920906109897. 1
920906109898. 2
920906109899. 3
920906109900. 4

Question Number : 76 Question Id : 92090627811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A: Agroforestry is always profitable compared to monocropping.
Reason R : The chances of total failure of crop is less in agroforestry.
In the light of the above statements, choose the most appropriate answer
from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

2. Both A and R are correct but R is NOT the correct explanation of A.

3. Ais correct but R is not correct.

4. A is not correct but R is correct.

Options :

920906109901. 1
920906109902. 2
920906109903. 3
920906109904. 4

Question Number : 76 Question Id : 92090627811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faTeTd $YF A : UF HEA UUITE Bt ga-] | Hiaie! ded arHead
WwIE
PRUIR: SN AD! T GHADI0 B [dH el & S/aeRk AL 8 |
Iuged Sl & e A 2 el 12 faspedl 7 O Ul I YT

1. A SRR ¥d € 3R R, A Pl gl AT &

2. ASIRREF U E APAR, A P! Ot amrem 7T 8

3. AN W R3HA

4., AT E R RULT E

Options :

920906109901. 1
920906109902. 2
920906109903. 3
920906109904 4

Question Number : 77 Question Id : 92090627812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A : Soft wood are generally derived from conifers.
Reason R : There is no correlation of softness or hardness with conifers and
broad leaves species.
In the light of the above statements, choose the most appropriate answer
from the options given below :
1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is NOT the correct explanation of A.
3. Ais correct but R is not correct
4. A is not correct but R is correct.

Options :

920906109905. 1
920906109906. 2
920906109907. 3
920906109908. 4

Question Number : 77 Question Id : 92090627812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FHdTEHS YT A - B H1F (@T I8) IHHI: THURT 9&ii I oI

gidl 81

PRUIR: DHEA A1 HARAI BT AHURT IR A1S! Uxiiare! Sicdl o A1y Big
LEEERE

Suddrd Syl & e # A e 1 fdeeul 7 @ wet W ghT

. ASRREA 9T € 3R R, A Pl ol AT &

A 3R R GHFI 9 g, Afd R, A | Uel SO’ el 6

ATTE RGRITAE

ATAERGRIT

BN

Options :

920906109905. 1
920906109906. 2
920906109907. 3
920906109908. 4

Question Number : 78 Question Id : 92090627813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A : Forest trees play major role in mitigation of impact of climate
change.
Reason R : Many tree species raised for sericulture, laculture and apiculture
under agroforestry system.
In the light of the above statements, choose the correct answer from the
options given below :

1. Both A and R are true and R is the correct explanation of A.

2. Both A and R are true but R is NOT the correct explanation of A.

3. Ais true but Ris false.

4. Ais false but R is true.

Options :

920906109909. 1
920906109910. 2
920906109911. 3
920906109912. 4

Question Number : 78 Question Id : 92090627813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FYITES FYT A 71 & 98, Sadrg URadH & UHId B HH S H =
ity AU 8
PHRUIR: dgd 4l SNl a4 HatH, TRg ae iR AyHwdl gra- & fore S
a9t a3 & sidiid It S 81
Iuged HYAl & Yoo 7 A fed 13 fasedi # ¥ wet I g
1. ARREFIIAE 3R R, A B! U ARAT ©
2. A 3R RS 9 g, Afd- R, A D1 U1 ARSA el &
3. AU WGRITA R
4, A R<JRUI§
Options :
920906109909. 1
920906109910. 2

920906109911. 3
920906109912. 4

Question Number : 79 Question Id : 92090627814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Growing more than one crop on the same piece of land at same time is -
Mixed Farming
Mixed Cropping
Multiple Cropping
Mixed Gardening
. Multistorey Cropping
hoose the correct answer from the options given below :
1. Only A
2. OnlyB
3. BBCandD
4 BandE

moapwre

)

Options :

920906109913. 1
920906109914. 2
920906109915. 3
920906109916. 4

Question Number : 79 Question Id : 92090627814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U & 900 H 0P Yl & Ths W U 9 SHUS HHal dI I &
A, Tifga wdi
B. faf%ra waa
C. 9gd %had
D. fafsra Ienfst
E. SgHudll BEd
4 G 1o fowedl & ¥ 9el IR g
1. $ddA
2. $ddB
3. B,C3IRD
4. B3IRE

Options :

920906109913. 1
920906109914. 2
920906109915. 3
920906109916. 4

Question Number : 80 Question Id : 92090627815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The usual scale present in Haga Altimeter are -
15
20
25
30
ol L
Choose the correct answer from the options given below :
1. AandB
2. A, BandC
3. ABCandD
4. A B, CDandE

M B

Options :

920906109917. 1
920906109918. 2
920906109919. 3
920906109920. 4

Question Number : 80 Question Id : 92090627815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

& uediier ¥ Jufyd I dmE #1E & &
15
20
25
30
35
:ﬂﬁﬁﬁﬂﬁﬁﬁﬁrﬁﬁﬂﬁmgﬁq
. A3RB
2. A B3IRC
3. A B C3RD

4. oG 9t

Options :

920906109917. 1
920906109918. 2
920906109919. 3
920906109920. 4

m Q0 B

Question Number : 81 Question Id : 92090627816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the requisites of measure of central tendency?
It should not based on all observations.
It should be rigidly defined.
It should be easy to calculate.
It should be suitable for further mathematical treatment.
It should be affected much by extreme observations.
Chnoge the correct answer from the options given below :
1. A, BandC
2. BCand D
3. ABCandD
4 B, C DandE

BT R

Options :

920906109921. 1
920906109922. 2
920906109923. 3
920906109924. 4



Question Number : 81 Question Id : 92090627816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1y ughy & AIYA & fore fobw 1 siaggesal g1l 82
A. TE 9N UHde U HTeMd ATel it il

B. g T¢ ®U H ufvHIitd g1 Iifeu|

C. U8 MM ¥ 3ficierd &1 &H drelt 8191 F1feu|

D. Tg 31 & Ty deR & fo Iugehd g1 Amigul
E. U8 9¥H Ud&ull & gRI if¥aifie uHifad gF1 e
e g 1 fasedl o & 98t SR g

A B3R C

B, C 3fR D

A, B, C3R D

B,C,D3IRE

L L

Options :

920906109921. 1
920906109922. 2
920906109923. 3
920906109924. 4

Question Number : 82 Question Id : 92090627817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The only floating national park of India is -
Corbett
Manas
Keoladeo Ghana
Keibul Lamjao
. Gulf of Mannar
Choose the correct answer from the options given below :
1. Aand B only
2. Band Conly
3. C,Dand E only
4. Donly

mon ®»

Options :

920906109925. 1
920906109926. 2
920906109927. 3
920906109928. 4



Question Number : 82 Question Id : 92090627817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WRT BT/ Had Rl TP I B /A 3-
A. Plde
B. HIFY
C. &ddiad gMI
D. PIZdd AHIS
E. HIR &l Grel
:ﬁﬁﬁﬁﬂﬁﬁaﬁﬁmﬁﬂﬁmgﬁq
. PaddA 3B
2. Had B AR C
3. $aaC, D RE
4, HddD

Options :

920906109925. 1
920906109926. 2
920906109927. 3
920906109928. 4

Question Number : 83 Question Id : 92090627818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Live stock production system in which the animals are fed in pens or other
confidential areas and are not permitted to graze is called -
A. Stall feeding
Zero grazing
Normal feeding
Wild feeding
Onfarm feeding
hcmse the correct answer from the options given below :
1. AandB
2. A, BandC
3. ADandE
4. Only B

moOo

™y

Options :
920906109929. 1
920906109930. 2



920906109931. 3
920906109932. 4

Question Number : 83 Question Id : 92090627818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ug] ¢ Ied1g- DI dg WoTTel forad gl &1 gelial § faeman iran & ar s
Mot & § I8 IR B ST A8l & | 39 UDR &1 a1 1 dgdrdl 87
. T HISH {0
A GRU]
. R HISH 40T
. @ HISE 0]
. WdieT HIeA 40|
i & 18 faseul & 4 Wt I g
1. A3IRB
2. A B3RC
3. AD3IRE
4. HAdB

-

mg N

Options :

920906109929. 1
920906109930. 2
920906109931. 3
920906109932. 4

Question Number : 84 Question Id : 92090627819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which species is suitable for soil conservation under shelterbelt
A. Acacia arabica
B. Casuvarina equisetifolia
C. Gliricidia maculate
D. Tectona grandis
E. Shorea robusta
Choose the correct answer from the options given below :
1. AandB
2. A,BandC
3. CandD
4, C,DandE



Options :

920906109933. 1
920906109934. 2
920906109935. 3
920906109936. 4

Question Number : 84 Question Id : 92090627819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YeeIdee (HIYY Ug) & Sf=id, HaT W&l & fere o1 i faal Iuged gidl 82
PR HRIIHT
SR FPAHT BT
Fafeiitear Agder
o = s | /v
. i ey
2 3 M foeedl & 4 98 SWR g
1. AR B
2. AB3RC
3. C3RD
4, C,D3INE

mo O ®®

Options :

920906109933. 1
920906109934. 2
920906109935. 3
920906109936. 4

Question Number : 85 Question Id : 92090627820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement | : Damage caused by insect pest in agroforestry system is
negligible.
Statement Il : Cultural operation is very necessary for higher yield and
growth of both components of Agroforestry system.
In the light of the above statements, choose the most appropriateanswer
from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.

4. Statement | is incorrect but Statement Il is correct.

Options :

920906109937. 1
920906109938. 2
920906109939. 3
920906109940. 4

Question Number : 85 Question Id : 92090627820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 By IR MU B:

FYA | PN arH] YUl § Bic Grgd! gRI &1 Tl g1 770 B |

AT 11 ;. HY D] YOIl & SHI gedh] S 3= I, IR gfa & e s
grai S HaF g

IRITd HYH & fTaid 4, -9 ST T el & 3§ e Iuge I & 994

HifoTe:

HYA | 3R BUF 1| S Gel &

YA | 3R FYA || S TTd &

HYF | HEl g W= HY | 7Tad &

HYF | 7TAd ¢ R HY | el @

L

Options :

920906109937. 1
920906109938. 2
920906109939. 3
920906109940. 4

Question Number : 86 Question Id : 92090627821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement | : India has adopted National Agroforestry Policy in 2014.
Statement Il : Many countries has already have their agroforestry policies.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.

4. Statement | is incorrect but Statement Il is correct.

Options :

920906109941. 1
920906109942. 2
920906109943. 3
920906109944. 4

Question Number : 86 Question Id : 92090627821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 g1 HyA e M &:

®YA | R A AP Fivar=! ifd &1 2014 7 sro=mn|

®YF Il : §gd U ¥ T ugd I € 391 sais] -fifcai g1

IRIad HYA & 3fTaa 1, i U U fawedi & ¥ 9ad Iuged I & 994
Pifo:

U | 3R B 1| T TE &

HYA | 3R FHYA || S TTerd §

HY | Gl & WRg B 1 7Tad §

HYF | TTeld & T DY 11 TEl 8

P L P el

Options :

920906109941. 1
920906109942. 2
920906109943. 3
920906109944. 4

Question Number : 87 Question Id : 92090627822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement | : Exotic species like fucalyptus and Poplar are most suitable
species for agroforestry practices.
Statement Il : fucalyptus and poplar plantation are being promoted in all
states of India.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.

4. Statement | is incorrect but Statement Il is correct.

Options :

920906109945. 1
920906109946. 2
920906109947. 3
920906109948. 4

Question Number : 87 Question Id : 92090627822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR A Fy UM E:

HYF 1 9 A1yl Sl B gHiered iR UIUdR, $ivare u=ra & fiau
Tad U gl
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EIEGE
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Hifol:
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HY | 3R HY 1| S Tad &
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Options :

920906109945. 1
920906109946. 2
920906109947. 3
920906109948. 4

Question Number : 88 Question Id : 92090627823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements :
Statement | : Every year 2" February is celebrated as World Wetland Day,
which marks the date of signing of Ramsar Convention on Wetlands.
Statement Il : Ramsar convention on Wetland was signed in 1974.
In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement |l are false.

3. Statement | is true but Statement Il is false.

4. Statement | is false but Statement Il is true.

Options :

920906109949. 1
920906109950. 2
920906109951. 3
920906109952. 4

Question Number : 88 Question Id : 92090627823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICRA I AT (F
YT UdD q¥ 2 GG B fay 311 YA 38 7rg1 Sl 21 98 31 Y
TR IHER T R g&ER &1 faaq Uil

YT I 375 Y TR AR R W 1974 H gRIeR gl

SR FY & fTdid 4, 71 QU e ol & | gad Suga S) &1 9494
Pifore:

HY | 3R HYA 1| ST el &

HY | 3R PU || G Tad &

HY | el € W] SYA || Tad §

HYF | TTAd ¢ R dY 1 el &

P b B oo

Options :

920906109949. 1
920906109950. 2
920906109951. 3
920906109952. 4

Question Number : 89 Question Id : 92090627824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Give below are two statements :
Statement | : According to Myers etal, the updated number of hotspots are
34 in world.
Statement Il : Indian landmass incorporates 4 hotspots out of 34 globally.
In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement Il are false.

3. Statement | is true but Statement Il is false.

4. Statement | is false but Statement Il is true.

Options :

920906109953. 1
920906109954. 2
920906109955. 3
920906109956. 4

Question Number : 89 Question Id : 92090627824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A sy Ry e:
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®YF 11 : 3 34 3P gie Wie ¥ ¥ yRd Y &3 1, 4 gfc wWie g

SURIdd YA & el 1, A U U fadwedl & ¥ 9ad Iuged SR &I 994
PIfoIC:
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HYA | SR FYA 11 T TTed ©
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Options :

920906109953. 1
920906109954. 2
920906109955. 3
920906109956. 4

Question Number : 90 Question Id : 92090627825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :
Statement | : The concept of megadiversity center was introduced by
Mittermeir and Werner in 1990.
Statement Il : There are 10 megadiversity regions have been recognized
globally.
In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement Il are false.

3. Statement | is true but Statement Il is false.

4. Statement | is false but Statement Il is true.

Options :

920906109957. 1
920906109958. 2
920906109959. 3
920906109960. 4

Question Number : 90 Question Id : 92090627825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906109957. 1
920906109958. 2
920906109959. 3
920906109960. 4

Question Number : 91 Question Id : 92090627826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The main principle of Stockholm conference is called as -
Montreal Protocol
Magna Carta of Environment
Earth Summit
Copenhagen Meeting
. Vienna Convention
hoose the correct answer from the option given below :
1. Aand B only
2. Band Conly
3. C,Eand D only
4. Bonly

L I L

3

Options :

920906109961. 1
920906109962. 2
920906109963. 3
920906109964. 4

Question Number : 91 Question Id : 92090627826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. BIUgiH Hifew
. e e
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Options :

920906109961. 1
920906109962. 2
920906109963. 3
920906109964. 4

Question Number : 92 Question Id : 92090627827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

First stable product in C4 plants during the photosynthesis
A. PGA
OAA
NADPH:
NADP
. Glyceric Acid
Choose the correct answer from the option given below :
1. Aonly
2. Bonly
3. Conly
4. DandE only

moN®

Options :

920906109965. 1
920906109966. 2
920906109967. 3
920906109968. 4

Question Number : 92 Question Id : 92090627827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THT HLAWUl & GRA C4 UGyl T UyH R Iare &1 gial &
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. el s
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1. dd A
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Options :

920906109965. 1
920906109966. 2
920906109967. 3
920906109968. 4



Question Number : 93 Question Id : 92090627828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

United Nation Conference on Environment and Development (UNCED) was
held on -
A, January 1992
B. March 1992
C. June 1992
D. December 1992
Choose the most appropriate answer from the option given below :
1. Aonly
2. B and D only
3. AandB only
4. Conly

Options :

920906109969. 1
920906109970. 2
920906109971. 3
920906109972. 4

Question Number : 93 Question Id : 92090627828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U faRur 3R [T U HgeR AP YIS e g3 ol -
A S 1992
B. HId 1992
C. 91992
D. fauraR 1992
#4258 M fowedl & 9 999 Uy SO 9T
1. Bdd A
2. HAAB AR D
3. HadA3RB
4. Sdd C

Options :

920906109969. 1
920906109970. 2
920906109971. 3
920906109972. 4



Question Number : 94 Question Id : 92090627829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sandal tree is a
A. Root parasite
B. Semi root parasite
C. Stem parasite
D. Semi-stem parasite
Choose the most appropriate answer from the option given below :
1. Aonly
2. Bonly
3. Conly
4. Donly

Options :

920906109973. 1
920906109974. 2
920906109975. 3
920906109976. 4

Question Number : 94 Question Id : 92090627829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906109973. 1
920906109974. 2
920906109975. 3
920906109976. 4



Question Number : 95 Question Id : 92090627830 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Specific physical places in the landscape is called
A. Nomadic place

B. Niche

C. Habitat

D. Meadow

Choose the most appropriate answer from the option given below :
1. Bonly

2. Conly
3. Donly
4. Aonly

Options :

920906109977. 1
920906109978. 2
920906109979. 3
920906109980. 4

Question Number : 95 Question Id : 92090627830 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ¥ fafiy Wifds T &) T eI S @ -
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1. $ddB
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Options :

920906109977. 1
920906109978. 2
920906109979. 3
920906109980. 4



Question Number : 96 Question Id : 92090627831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST I LIST I
A. The Earth Summit l. 1987
B. Montreal Protocol Il. 1996
C. Geneva Convention 11,1997
D. Kyoto Protocol IV.1992

Choose the correct answer from the options given below :
1. A-lll, B-I1, C-IV, D
2. A-IV, B-l, C-lil, D-Il
3. A-IV, B-l, C-lI, D-lNl
4. A-l, B-lll, C-1l, D-IV

Options :

920906109981. 1
920906109982. 2
920906109983. 3
920906109984. 4

Question Number : 96 Question Id : 92090627831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | B gt 1 & gaferd Sifere:
il It il

A. 3 |itye (gudt gwieE) 1. 1987
B. Hifcyd Uicihld Il. 1996
C. SHdl HdIH . 1997
D. eI UIeidhid V. 1992

1. A-lll, B-II, C-IV, D-I

2. A-IV, B-I, C-lIl, D-Ii

3. A-IV, B-I, C-II, D-lIl

4. A-l, B-lll, C-Il, D-IV

Options :

920906109981. 1
920906109982. 2
920906109983. 3



920906109984. 4

Question Number : 97 Question Id : 92090627832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST LIST Il
A. Tanin l. Boswellia serrata
B. Gum Il. Pinus roxburghii
C. Resin 1. Tamarindus indica
D. Katha V. Acacia catechu

Choose the correct answer from the options giv
below

1. A-ll, B-lll, C-IV, D-
2. A-lll, B-Il, C-l, D-IV
3. A-lll, B-lv, C-I, D-ll
4. A-ll, B-1, C-ll, D-IV

Options :

920906109985. 1
920906109986. 2
920906109987. 3
920906109988. 4

Question Number : 97 Question Id : 92090627832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1 &1 e 1 gafd i

il Ll

A e . srdifern Aver
B. Tiig . UETH Jegagrs
C. o Il cHYEH 3ia@7
D. &l V. 3{HRME H2g
1. A-ll, B-lll, C-IV, D-I

2. A-lll, B-II, C-I, D-1V

3. A-lll, B-IV, C-1, D-II

4. A-lll, B-1, C-Il, D-IV

Options :

920906109985. 1
920906109986. 2
920906109987. 3
920906109988. 4

Question Number : 98 Question Id : 92090627833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

LIST | LIST Il
A. Terminalia arjuna I. Dry areas
B. Populus deftoides Il. Well drained areas
C. Acacia nilotica lll.Water logged areas
D. Azadlirachta indica  IV.Sodic soll

Choose the correct answer from the options given below :
1. A-lll, B-1, C-Il, D-IV
2. A-Ill, B-1, C-I, D-IV
3. A-IV, B-lll, C-lI, D-I
4. A-lll, B-1V, C-I, D-I

Options :

920906109989. 1
920906109990. 2
920906109991. 3
920906109992. 4



Question Number : 98 Question Id : 92090627833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | B g 1§ ghferd sifer:
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1. A-lll, Bl C-Il, D-IV

2. A-lll, B-1I, C-I, D-IV

3. A-IV, B-lll, C-Il, D-|

4. A-lll, BV, C-1, D-Il

Options :

920906109989. 1
920906109990. 2
920906109991. 3
920906109992. 4

Question Number : 99 Question Id : 92090627834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST | LIST Il
A. Oil type I. ASCU
B. Water soluble fixed type ll. Borax boric acid
C. Water soluble leachable type Ill.Creosote coal tar
D. Fire retardant IV.Zinc chloride

Choose the correct answer from the options given below :
1. A-lll, B-IV, C-lI, DI
2. A-lll, B-ll, C-I, D-IV
3. A-lll, B-l, C-ll, D-1V
4. A-l, B-ll, C-lIl, D-IV

Options :

920906109993. 1
920906109994. 2
920906109995. 3



920906109996. 4

Question Number : 99 Question Id : 92090627834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A-lll, B-1V, C-lI, D-I
A-llI, B-II, C-I, D-IV
A-lll, B-I, C-II, D-IV
A-1, B-II, C-111, D-IV

-l L e

Options :

920906109993. 1
920906109994. 2
920906109995. 3
920906109996. 4

Question Number : 100 Question Id : 92090627835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mean concept of Urban Forestry is/are -
Aesthetic development

Ornamental value

Microclimatic modification

Wildlife conservation

Ground water recharge

moN®p

Choose the correct answer from the option given below :
1. Aand B only
2. A, BandConly
3. A B, CandD only
4. C,DandE only

Options :
920906109997. 1



920906109998. 2
920906109999. 3
920906110000. 4

Question Number : 100 Question Id : 92090627835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. HAAA, BIHRC
3. $ddA, B, C3RD
4. HdAC, DIIRE

Options :

920906109997. 1
920906109998. 2
920906109999. 3
920906110000. 4



